
Workshop Exercises:  Infinite Series I

1.  Determine whether the series is convergent or divergent.  If the series is alternating, determine
 whether it is absolutely convergent, conditionally convergent, or divergent.
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2.  Approximate�n�0
� ��1�n�2 n�1��  to three decimal places.

3.  Find the radius of convergence and interval of convergence of the series.

 a) �n�0
� xn

n2 .  e)�n�1
� ��1�n xn

n
.

 b) �n�0
� xn

�n�1� 2n .  f)�n�1
� �x�2�n

n�n�1� .

 c) �n�1
� xn

n�
.  g)�n�1

� 3n �x�1�n
n

.

 d) �n�0
� �2 n�� xn

2n .

Solutions:

1.  a) convergent  g) convergent

 b) divergent  h) convergent

 c) convergent  i) conditionally convergent

 d) convergent  j) divergent

 e) divergent  k) absolutely convergent

 f) conditionally convergent  l) divergent

2.  0.842

3.  a) radius 1, interval ��1, 1�  e) radius 1, interval ��1, 1�
 b) radius 2, interval ��2, 2�  f) radius 1, interval �1, 3�
 c) radius�, interval ���, ��  g) radius 1
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 d) radius 0, interval {0}


